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GENERAL STUDIES

‘Make in India’ campaign wa: jaunched
on

(A) October 2, 2014
(B) September 25, 2014
(C) January 26, 2014
(D} August 15, 2014

Which animal is declared as ‘Aghanya’
in Rigveda ?
{A} Sheep
{C) Horse

(B) Cow
(D) Goat

As on January 15, 2015 the status of
Repo Rate modified by RB1 was

(A) 8.0%
(B) 7.75%
(C) B.25%
(D) No medification

‘Xerophthalmia' is the disease caused by
deficiency of

(A} VitaminB,,

{B) Vitamin C

(C) Vitamin A

(D} Vitamin K

Which country is called “The sugar bow!
of the world' 7

(A) Cuba {B) ltaly
() India (D) Japan
A keel is absent in

(A) Ostrich (B) Duck
(C) Chicken (D) Peacock
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10.

11

12

Which Article of the Constitution
defines the duties of the Chief Minister ?

{A) Anicle 162
(B} Article 164
{C) Article 165
(D) Article 167

Which of the following is the fastest
memory 7

(A) Hard Disk

{(B) DVD ROMs

(C) Statc RAM

(D) Cache Memory

Which one of the following 15 not

formed in cur body ?
(A) Vitamin A (B) Protein
{C} Enzyme (D) Hormone

Which of the following planets does not
have satellite ?

(A} Earth (B) Mars

{C) Jupiter (D) Venus

Who amongst the following captained the
Sri Lankan Team in the final match of
ICC world T20 between India and Snp
Lanka held in April 2014 in Bangladesh ?
(A) Kumara Sangakara

{B) Mahela Jnjrawmlhnnc

{C) Lasith Malinga

(D) Kushal Parera

Which zone of the Indian Railway is the
shortest one ?

{A) Delhi Metro

(B} Mumbai Metro

(C) Kolkata Metro

15)) Banga]ure Metro
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13,  Quartzite is metamorphosed from 19. “India Wins Freedom” i1 the
(A} Limestone autobiography of
®) Plutonic rock (A) Syed Ahmad Khan
(C) Sandstone (B) Muhammad Ali
(D) Shale (C) Abul Kalam Azad
{D) Zakir Hussain
W s Ee 20. Which of the following countries have
(A) Multi Barrel Rocket Lanncher. an unwritten Constitution ?
(B) Airborme Early Warning and Control (A) India (B) Pakistan
SywE. (C) USA (D) UK
(C) Unmanned Combat Aerial Vehicle
{D} Nuclﬂ_l"-l"uwm'ed Ballistic Missile 21, How many strings a&re on a Sarod ?
Submarine, A) 5 ®) 7
(C) 4 (D) 19
15. Who amongst the following joined as
Govermnor of Reserve Bank of .
mu?um 20147 A . -
(A) Kaptan Singh . Bﬂgl_'nmm z
®) Dr. feet Singh (B) meimus intensity
— {C) Muminance
(C) Dr.CA. Bandopadirysy (D) Luminous flux
(D) S.S. Mundra
23. The seat of Madhya Pradesh High Court
16. Which of the following soils of India is is located at
most suitable for cotton cultivation 7 (A) Indore (B) Bhopal
(A) Regur soil (C) Gwalior (D) Jabalpur
(B) Laterite soil
(C) Alluvial soil 24.  Dry Ice is nothing but
(D) Red soil (A) Washing soda
(B) Carbon monoxide
17. The 7 BRICS summit of 2015 was beld (C) Gaseous carbon dioxide
in Russian city of (D) Solid carban dioxide
{A) Abaza {B) Balakovo _
{C) Koiovo (D) Ufa 25. The immortal song Vande Mataram has
been written by
18. Which one among the following is & () Ratancranath Tagoos
plant hormone ? (B) Surendranath Bandopadhyay
(A) Insulin (B) Thyroxin (C) Bankim Chandra Chattopadhyay
(D) Sarat Chandra Chstterjee

(C) Gibberellin (D) Estrogen o
uma
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27.

.

MATHEMATICS (Quantitative Aptitude)

If the number is added 1o two-fifths of
itself, the value 50 obtuined is 435. What
iz the numbet ?

(A} 425
(C) 325

(B) 526
(D) 562

{-\}'3+1}2='?+2\E
(A) 7 B) V7
(€) AWT+7 (D) &7

The body weight of seven boys is
recorded as 70 kg, 64 kg. 55 kg, 8! kg,
45 kg, 76 kg and 92 kg. What is the
average body weight of all seven boys 7
(A) 69ke (B) 96kg
(C) 65kg (D) S6kg

The cost of 4 bags and 12 purses is
¥ 1,520. What is the cost of 10) bags and
30 purses ?

(A) ¥3,500
(Cy T 3,800

(B) 15,300
(Dy T2,800

One of the angles of a parallelogram is
35°. What will be the sum of the largest
angle and twice the smallest angle of the

parallelogram ?
(A) 217° (B) 215°
(C) 265° (D) 210°

The area of a square is 256 sg.cm. What 18
the value of the double.of its perimeter ?

(A) 64cm {B) 30cm
(C) 182¢m (D} 128 cm

B i andra ramar
M- ? mpﬁ* " g-pidinahion Commites
b 2 a < um-
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32
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37,

Six boys can complele a piece of work in
42 hours. In how many hours will 14
boys complete the same piece of work ?
(A) 18 (B) 17

(C) lé {By 15

Ram purchased an item for T 8,200 and
sold il at & gain of 35%. From that
amount he purchased anather item and
sold it at a loys of 20%. What is his
overall gainfloss ?
(A) 2655 gain

{C) T-655 loss

(B) T 656 gain
{D} T 656 loss

eIz
(A) 187 (B) 186
(C) 185 (D) 184

What is the least number to be added to

4523 to meke il a perfect square ?
(A) 101 (By 105
(C) 110 (D) 238

The total number of students in a school
is 31700. If the ratio of boys to the girls
in the school is 743 : 842, what is the
total number of girls in the school ?

(A} 16650 (B) 16830

(C) 16840 (D) 16680

Qut of the following fractions which one
is the second lowest ?

4 G . {5 o8
5'11 18716 1
8 6
(A) 17 (B) 17
7 3



38, 3nf§0f%uﬂﬁﬁ4=? 44, Whatis 214 times 98 ?

_ {A) 21070 (B) 20972
(A) 648 (B) 728 (C) 21640 (D) 20452
C) 762 (D} 612
45, 15% of 7=94.5
39. 1f (20)° is subtracted from the square of (A) 14.175 (B) 141
a oumber, the answer so obtained is (€) 630 (D) 1410
4321, What is the number ?
(A) 111 (B) 112 46. 61% of & number is 9028. What is 46%
© 113 D) 114 | of that mumber 7
(A) 6660 (B) 6956
(C) 7104 (D) 6808

40. In how many different ways can the
letters of the word POWERS be

arranged ? 47. A bus covers a distance of 1488 km in
. 24 hrs. What is th

(A) 640 @) 720 i t is the average speed of the

(C) 1440 (D) 360 (A) 62 kmph (B) 68 kmph

(C) 64 kmph (D} 89 kmph
41. 62626-6262+626-62+6="

(A) 56934 (B) 56494 48, What is the compound interest accrued
: on a sum of T 1800 at the rate 4 p.c.pa in
(C) 54694 (D) 54664
2 years 7
{A) T1846.84 {B) T156.84
42. If (9) is subtracted from a square of a (Cy T19460 | (D) T146.88
number, the value so obtained is 544. '
Whas is the number ? 49. The ratio between the present ages of a
{A) 25 {(B) 27 girl and a boy is 5 : 4. Four years ago,
the boy’s age was 24 years. What will be
26
© (D) 32 the girl’s age after five years 7
(A) 39 years (B) 40 years
43, A |24 ., [§16 (C) 32 years (D) 46 years
1215\ 149 ¥
(A) 3H 3ﬁ 50, 648+54%14=7
8 A) 134 B) 146
© 257 O 2y o )
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52,

53

58,

56.

59,

60,

6l.

62.

Directions (). 64-66)

GENERAL ENGLISH

Directions (51-53) : In the following questions,
out of the four alternatives, choose the one which
can be substituted for the given words/sentence.

Thiit which lasts for a short time

(A) rotatory (B) regular

(C) 1trensitory (D) repository

A person who believes in total abolition
of war,

(A) Pacifist {B) Communist
C) Socialist (D) Fascist

Ready to believe anything.

{A) Credulous {B) Incredible

fC) Credible (D} Incredulous
Find the misspelt word.

{(A) archery {B) ardous

(C) authenticity (D) authority

A person who on his own effort
has the best chance 1o win.

{A) reliey (B) makes

(C) runs (D} puts

All the applicants and the results
will be announced next week.

{A) are to be ranked(B) are to rank

(C) runk (D} ranking
Find the misspelt word.

{A) orthodox (B} euphoria
{C) wiilitarisn (D) enemys

Find the misspelt word.
(A} osophagus (B) hean

(C1 spine (D) diaphragm
She is beautiful brave.
(A} vet (B} bot
{(C) so (D) and

All the decisions, are likely to be
tiken by consensus.
{A} somehow {B) however

(C) forever (D) anyhow

The old man covld not remember where
he his money.

{A) had deposited (B) is depositing
(C) will deposit  {D) deposits

She had frequemt toothaches. So she
decided to

{A) having her teeth removed.

(B} remove her teeth.

(C} removing her teath.

([ have her teeth removed.

Ram ____  this

At one time, Mr

supermarket.
(A) was owing (B} used o own
{C) awned (D) bad owned

: In the following

questions, out of the four alternatives, choose the
one which best expresses the opposite meaning
of the word given in capital letters.

64,

A

REPEL
{A} continue
(Ci attend

(B attract

65.

66.

APALLING

(A} scaring (B) horrifying
(C} consoling (D) shocking
PACIFY

{A) threaten {B) challenge
(C) enrage (D) quirrel

Directions (Q. 67-69) : In the following
uestions, out of the four alternatives, choose
e one which best expresses the meaning of

the given word.

67.

68.

69.

70.

7L

72

Directions (7375} : In

BECKONED

{A) sent (B) acquitted

(C) called {[} accused
OBSTINATE

(A) clever (B) pretty

(C) silly {D} stubbom
DECREPITUDE

(A) crowd (B) feebleness
(C) coolness (D) disease

Are you really desirous visiting
Japan 7

(A) about (B) in

{C) of (D} to

The sky is overcast, we the storm
will soon burst,

(A} trust (B) expect

(C) suspect (I hope

The candidate’s g;{%‘;inn was
for its brevity and ¢Tarity.

(A) incomprehensible

(B) conspicuous

(C) remarkable

(D) complimen

the following

questions, four alternatives are given for the

tdio
the

hrase in bold in the sentence. Choose
ternative which best expresses the

meaning of the idiom/phrase.

73.

™.

75.

The king had been made to eat humble pie.
(A) to have an excellent cish,

{B} to have 1o apalogise.

{C) 1o eat slowly.

(D) toeat a good pie.

The Saint’s life was an open book.

(A) an example to all.

(B} an uncomplicated one.

(C) an interesting biography.

(D) one that held no secrets.

He has a very nice manner, but you

would better take what he says with a

grain of salt.

(A) 1o talk sensibly

{B) 1o criticise

C) to  listen to
considerable doubt.

(D) to W‘Eﬂbﬂ

something  with

e TR aion GO

(D) concentrale
. A
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4 The Candidate must put his full signature in the prescribed spaces using blue / black ball point pen.
e ek / Tt et S e | St el T AT R S )

C. ; gwer Sheet :
T T T INE WA W e

1. Thequestions ore of multiple-choice type. Each question is provided with a number of choices of Answers, cut o
which ONLY ONE is MOST APPRO .Thecmdidntemustdnﬂmlh:lpmpﬁmcimlcfmﬁdad in front o
the question number, using Biue / Black Ball Point Pen only. Any candidate uses the pencil for darkening th

answer sheet hisfher answer sheet will be rejected.
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mm#mmm%mtmﬁﬁﬂ%fmﬁmm##nm
T T IO TAF G T T TG A
Example:  If correct answer for question no. 9 is the choice 'D’, then darken the circle ‘D" in front of question no.’
as shown below :
AT nfcmﬁ?wq%mﬁm-n*qﬁmtﬁmﬁwatﬂmﬁ%ﬁﬂvﬁﬁﬁm&w
HET :
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2 (s Thecircles, s described in C-1 above, are to be darkened by using Blue / Black Ball Poit Pen only.
T EE C-1 § TR AR e =t sieft / wrelt Wher ey e g ST
() The shading should be dark and should completely fill the circle.
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{¢) Only oge circle carresponding 1o the meost appropriate answer should be darkened as shown below :
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meorrect /T : A ® ® @

Note: CAREMUSTBE TAKEN NOT TO DAMAGE THE OMR ANSWER SHEET IN THE PROCESS €
DARKENING APPROPRIATE CIRCLES.
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circle using blue / black ball point pen only as no change in answer once marked is allowed. Use of eraser
white / correction fluid on the answer sheet is not permissible as the answer sheets are machine gradabie a
it may jead o wrong evalustion.
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(¢) If more than one circle is darkened using Blue/Black ball point pen or if the response is marked in any otl
manper or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.
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PROPOSED ANSWER FOR SCREENING TEST HELD ON 17-07-2016
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